 Why are biff and happy unhappy essay sam... – Paper Example	Page 2

[image: ]


Why are biff and happy unhappy essay sample





[bookmark: _GoBack][image: ]Literature, Russian Literature


In ‘ the Death of a Salesman’ we already know that Willy thinks of himself as a failure. He tries to escape the reality by living in the past, having illusions. Biff and Happy, Willy’s sons have respected Willy as the ideal father, their idol, until Biff finds out that all these were lies. In the middle of the Act 1, both Biff and Happy regard their father as a great man, a man to look up to, and a man to respect. To the boys he was seen as an ideal father, as he was never present to control the two and he was keen for them both, Biff in particular, to fulfill their potential and become great men. 
However, as the play progresses, the idealistic image of Willy Loman seems to evaporate through the test of time as we can see at the beginning of the play Biff is angry with Willy. Both Biff and Happy are unhappy because they are both lost. Biff has not only lost all confidence in his father but trust as well. Biff used to be a man with dreams, dreams that can make him happy but life didn’t go the way he wanted, he knows that his father had an affair with ‘ The Woman’, Biff felt betrayed. He probably doesn’t want his mother to know about this because the family will fall apart but keeping this truth inside him makes him suffer. 
From the flashbacks of Willy, we also see Biff having a stealing problem, he maybe wants to relief stress so this shows that Biff was already under pressure in that time, could be caused by his father. Biff is unhappy because he has been living in his father’s world throughout his life, listening to his false preaching all along. Happy is unhappy because he has no purpose in life and job. He cannot be promoted because the place has already been taken so the only way for him to be promoted is to wait for the merchandise manager to die. 
‘ Sometimes I sit in my apartment – All alone. Suggesting he has been lonely even thought that was what he always wanted. He also takes his revenge on the merchandise manager’s fiance s by having sex with them ‘ but I went and ruined her’, this shows the weakness in him, not willing to take them on like a man but take the cheap way. Happy is also miserable that Biff is still angry with his dad while Willy is in this weird state. Happy was already unhappy in the past, because Willy always seems to favor Biff because he is the older son and he is the one that’s more likely to turn out to be successful. 
Happy also tried to gain attention in the past by saying ‘ I’m losing weight’. Willy might have told his sons not to be fat because he doesn’t want them to be called a ‘ walrus’ like he did. The Loman brothers are unhappy because their father – Willy is in a bad state; he even tried to kill himself. They both look at themselves as failures, not being successful enough. And Biff knows about the affair and Happy wants to be promoted, be more successful, to tell his father he was wrong to favor Biff. 
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